Detailed information in numerical examples

First, Boolean functions of a CS-PBN to be considered

in numerical examples are given as follows.

A9 = w1 (k) A —as(k) V us(k),

1
f(l) _ Cg ) = 08,
B = 2o (k) A za(k) A —as(k),
AV =0.2,

FP = g (k) A g (B) V us(k),

£ = o =07,
P = —ao (k) A (k) V usg(k),
& =023,
1 = w5 (k) Aun (k) V =210 (k) A 212(k)
1O = Nuak), e =06,
D = 21(k) V o (k) A s (k) Aza(k),
& =04,
@ = 2y (k) Aws(k) A~y (k)
Jop v =z (k), &Y = 0.9,
( ) =y (k) A xa(k) Aur(k) V z14(k),
S =01,
FP = = (k) A s (k) A wr (k) V 21 (k)
£6) = Naa(k), e =07,
£ = —up (k) A zrs(k) A w1a(k)
A ais(k), ¢ = 0.3,
FO = 21 (k) Ao (k) A zro(k) V ~a15(k),
6 A9 =05,
£SO = o (k) v as(k) Aur (k) A —us(k),
e = 0.5,

f1(7) = 1'6(]{7) A\ &E7(k) N &Eg(k‘) V UQ(]{Z)
F = A =g (k), o = 0.8,
f2(7) = Ui (k‘) A\ 1'13(]{7), Cg ) =0.2,

®) = 25(k) A —ur (k) V 210(k) A ua(k)
f(g) = A\ xlg(k‘), Cgs) =0.7,
2 = as(k) A (k). & =03,

A7 = @3(k) Aua (k) V =g (k) A waa (),
FO) = A9 =08,
fz(g) = —we(k), ng) =02,

10 = (), ' = 0.6,
OO = £00 = o (k) A ua(k) A —a1a(k) A us(k),
9 = .4,

fll) — ./L'G(k) A xlo(kj> V ﬁ’LL2(k) A U3(k)7
M= 0.6,

a1 _

2 = ﬁ.’l’,‘5(k) A Ul(k) \Y ﬁ-,I/‘15(k>
Nus(k), cgll) =0.4,

f(ll) -

F2) f1(12) = z12(k) A ~215(K), 6512) =0.9,
2(12) _ ZE7(]€) /\xg(k), (12) 0. 1

1(13) = —us(k), ¢ (13) =0.7,
f(13) — f2(13) = x7(k) A Uz(k) A Ug(k),
A =03,

I = ~awak) Aus(h), o'V =08,
FO0 =0 8 = 21 (k) v 21a(k) A ua(k),
A =02,

f(15) _ fl(ls) = $14(k> A .%'15(]{7)7 0515) = 05,
19 = 2 (k), ') = 0.5.

Next, g(k) in a CS-PBN is given as

q(0)=08, ¢(1)=0.7, ¢(2)=0.6, ¢(3)=0.8,
q(4)=0.9, ¢(5)=0.6, q(6)=0.5, q(7)=0.7,
q(8)=0.6, q(9) =0.9.

Finally, the weighting vectors in Problem A and Problem

B are given as

Q=[11 - 1],
R=[10 1],
Q=110 10 --- 10].

The initial state is given as wg =[1 1 --- 1]%.



